

Results for a New Subclass of Spirallike Functions

Geetha Balachandar

*Department of Mathematics,
R.M.K. College of Engg. and Technology,
Puduvoyal - 601206, Tamil Nadu, India.
E-mail: gbalachandar1989@gmail.com*

Abstract

This paper introduces and investigates a new subclass $S_{\beta}(\alpha, \lambda)$ of spirallike functions. Coefficient inequalities and subordination results are proved.

AMS subject classification: 30C45.

Keywords: Analytic functions, starlike functions, convex functions, spirallike functions, subordination, subordinating factor sequence, coefficient inequalities.

1. Introduction

Let A denote the class of functions of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (1.1)$$

which are analytic in the open unit disc $U = \{z : |z| < 1\}$. Let S denote the subclass of A consisting of analytic and univalent functions in U . Also let S^* and K denote the subclasses of S that are respectively starlike and convex.

A function $f \in A$ is said to be in the class of α -spirallike functions of order β in U , denoted by $S^*(\alpha, \beta)$ if

$$\operatorname{Re} \left(e^{i\alpha} \frac{zf'(z)}{f(z)} \right) > \beta \cos \alpha, \quad z \in U,$$

for $0 \leq \beta < 1$ and for some real α with $|\alpha| < \pi/2$. The class $S^*(\alpha, \beta)$ was studied by R.J. Libera [2] and F.R. Keogh and E.P. Merkes [1]. We observe that $S^*(\alpha, 0)$ is the class

of spirallike functions introduced by L. Spacek [4], $S^*(0, \beta) = S^*(\beta)$ is the class of starlike functions of order β and $S^*(0, 0) = S^*$ is the familiar class of starlike functions.

Definition 1.1. If $f(z) = \sum_{n=0}^{\infty} a_n z^n$ and $g(z) = \sum_{n=0}^{\infty} b_n z^n$ are analytic in U , then the Hadamard product or convolution of f and g is

$$f * g = \sum_{n=0}^{\infty} a_n b_n z^n.$$

Definition 1.2. (Subordination Principle) Let $f(z)$ and $g(z)$ be analytic in U . Then we say that the function $f(z)$ is subordinate to $g(z)$ in U , and write

$$f \prec g$$

or

$$f(z) \prec g(z)$$

if there exists a Schwartz function $\omega(z)$, analytic in U with

$$\omega(0) = 0, |\omega(z)| < 1 \quad (z \in U),$$

such that

$$f(z) = g(\omega(z)) \quad (z \in U).$$

In particular, if the function $g(z)$ is univalent in U , then

$$f(z) \prec g(z) \quad (z \in U) \Leftrightarrow f(0) = g(0) \text{ and } f(U) \subset g(U).$$

Definition 1.3. (Subordinating factor sequence) A sequence $\{b_n\}_{n=1}^{\infty}$ of complex numbers is said to be a subordinating sequence if, whenever $f(z)$ of the form (1.1) is analytic, univalent and convex in U , we have the subordination given by

$$\sum_{n=1}^{\infty} a_n b_n z^n \prec f(z) \quad (z \in U; a_1 = 1).$$

Lemma 1.4. [5] The sequence $\{b_n\}_{n=1}^{\infty}$ is a subordinating factor sequence if and only if

$$\operatorname{Re} \left\{ 1 + 2 \sum_{n=1}^{\infty} b_n z^n \right\} > 0 \quad (z \in U).$$

Motivated by [3], we now introduce a new subclass of spirallike functions $S_{\beta}(\alpha, \lambda)$.

2. Definitions and Results

Definition 2.1. Let $F(z) = \frac{zf'(z) + \lambda z^2 f''(z)}{(1-\lambda)f(z) + \lambda z f'(z)}$, $f(z) \in S$, $0 \leq \lambda \leq 1$. When $\lambda = 0$, $F(z)$ reduces to $\frac{zf'(z)}{f(z)}$ and when $\lambda = 1$ $F(z) = 1 + \frac{zf''(z)}{f'(z)}$.

A function $f(z) \in S$ is said to be in the class $S_\beta(\alpha, \lambda)$ if it satisfies the inequality

$$\left| \frac{1}{e^{i\beta} F(z)} - \frac{1}{2\alpha} \right| < \frac{1}{2\alpha}, \quad z \in U. \quad (2.1)$$

for some real β and $0 < \alpha < 1$.

Theorem 2.2. $f(z) \in S_\beta(\alpha, \lambda)$ iff $\operatorname{Re} \left(e^{i\beta} \frac{zf'(z) + \lambda z^2 f''(z)}{(1-\lambda)f(z) + \lambda z f'(z)} \right) > \alpha$.

Proof. Let $F(z) = \frac{zf'(z) + \lambda z^2 f''(z)}{(1-\lambda)f(z) + \lambda z f'(z)}$ for $f(z) \in S$. If $f(z) \in S_\beta(\alpha, \lambda)$ then

$$\begin{aligned} & \left| \frac{2\alpha - e^{i\beta} F(z)}{2\alpha e^{i\beta} F(z)} \right| < \frac{1}{2\alpha} \\ \Leftrightarrow & \left| \frac{2\alpha - e^{i\beta} F(z)}{2\alpha e^{i\beta} F(z)} \right|^2 < \left(\frac{1}{2\alpha} \right)^2 \\ \Leftrightarrow & (2\alpha - e^{i\beta} F(z)) \overline{(2\alpha - e^{i\beta} F(z))} < [e^{-i\beta} \overline{F(z)}] e^{i\beta} F(z) \\ \Leftrightarrow & (2\alpha - e^{i\beta} F(z)) [2\alpha - e^{i\beta} F(z)] < [e^{-i\beta} \overline{F(z)}] e^{i\beta} F(z) \\ \Leftrightarrow & 4\alpha^2 - 2\alpha e^{-i\beta} \overline{F(z)} - 2\alpha e^{i\beta} F(z) + F(z) \overline{F(z)} < F(z) \overline{F(z)} \\ \Leftrightarrow & 4\alpha^2 - 2\alpha (e^{-i\beta} \overline{F(z)} + e^{i\beta} F(z)) < 0 \\ \Leftrightarrow & 2\alpha - 2\operatorname{Re}(e^{i\beta} F(z)) < 0 \\ \Leftrightarrow & \operatorname{Re}(e^{i\beta} F(z)) > \alpha \\ \Leftrightarrow & \operatorname{Re} \left(e^{i\beta} \frac{zf'(z) + \lambda z^2 f''(z)}{(1-\lambda)f(z) + \lambda z f'(z)} \right) > \alpha. \end{aligned}$$

This completes the proof. ■

Theorem 2.3. If $f(z) \in A$ satisfies

$$\sum_{n=2}^{\infty} \{n + |n - 2\alpha e^{-i\beta}|\} |1 + \lambda(n-1)| |a_n| \leq 1 - |1 - 2\alpha e^{-i\beta}| \quad (2.2)$$

for some $|\beta| < \pi/2$, $0 < \alpha < \cos \beta$ and $0 \leq \lambda \leq 1$, then $f(z) \in S_\beta(\alpha, \lambda)$.

Proof. It is enough if we show that $\left| \frac{2\alpha - e^{i\beta} F(z)}{e^{i\beta} F(z)} \right| < 1$, for some $|\beta| < \pi/2$, $0 < \alpha < \cos \beta$ and $0 \leq \lambda \leq 1$, where $F(z) = \frac{zf'(z) + \lambda z^2 f''(z)}{(1-\lambda)f(z) + \lambda z f'(z)}$.

Now,

$$\begin{aligned}
 \left| \frac{2\alpha - e^{i\beta} F(z)}{e^{i\beta} F(z)} \right| &= \left| \frac{2\alpha - e^{i\beta} \frac{zf'(z) + \lambda z^2 f''(z)}{(1-\lambda)f(z) + \lambda z f'(z)}}{e^{i\beta} \frac{zf'(z) + \lambda z^2 f''(z)}{(1-\lambda)f(z) + \lambda z f'(z)}} \right| \\
 &= \left| \frac{2\alpha e^{-i\beta} ((1-\lambda)f(z) + \lambda z f'(z)) - (zf'(z) + \lambda z^2 f''(z))}{zf'(z) + \lambda z^2 f''(z)} \right| \\
 &= \left| \frac{(1 - 2\alpha e^{-i\beta} + \sum_{n=2}^{\infty} (2\alpha e^{-i\beta} (1 - \lambda + \lambda n) - n(1 - \lambda(n-1))) |a_n| |z|^{n-1})}{1 + \sum_{n=2}^{\infty} n |a_n| |z|^{n-1} (1 + \lambda(n-1))} \right| \\
 &\leq \frac{|1 - 2\alpha e^{-i\beta}| + \sum_{n=2}^{\infty} |1 + \lambda(n-1)| |n - 2\alpha e^{-i\beta}| |a_n| |z|^{n-1}}{1 - \sum_{n=2}^{\infty} |n| |a_n| |z|^{n-1} |1 + \lambda(n-1)|} \\
 &< \frac{|1 - 2\alpha e^{-i\beta}| + \sum_{n=2}^{\infty} |n - 2\alpha e^{-i\beta}| |1 + \lambda(n-1)| |a_n|}{1 - \sum_{n=2}^{\infty} n |a_n| |1 + \lambda(n-1)|} \tag{2.3}
 \end{aligned}$$

Hence, if

$$\sum_{n=2}^{\infty} \{n + |n - 2\alpha e^{-i\beta}|\} |1 + \lambda(n-1)| |a_n| \leq 1 - |1 - 2\alpha e^{-i\beta}|$$

for some $|\beta| < \pi/2$, $0 < \alpha < \cos \beta$ and $0 \leq \lambda \leq 1$, then

$$\begin{aligned}
 &\sum_{n=2}^{\infty} |n - 2\alpha e^{-i\beta}| |1 + \lambda(n-1)| |a_n| \\
 &\leq 1 - \sum_{n=2}^{\infty} n |a_n| |1 + \lambda(n-1)| - |1 - 2\alpha e^{-i\beta}| \tag{2.4}
 \end{aligned}$$

Using (2.4) in (2.3), we get

$$\begin{aligned}
 \left| \frac{2\alpha - e^{i\beta} F(z)}{e^{i\beta} F(z)} \right| &< \frac{|1 - 2\alpha e^{-i\beta}| + 1 - \sum_{n=2}^{\infty} n |a_n| |1 + \lambda(n-1)| - |1 - 2\alpha e^{-i\beta}|}{1 - \sum_{n=2}^{\infty} n |a_n| |1 + \lambda(n-1)|} \\
 &= 1,
 \end{aligned}$$

which implies $f(z) \in S_{\beta}(\alpha, \lambda)$ for some $|\beta| < \pi/2$, $0 < \alpha < \cos \beta$ and $0 \leq \lambda \leq 1$. ■

When $\beta = \pi/4$ in Theorem 2.3 we have the following result.

Corollary 2.4. If $f(z) \in A$ satisfies

$$\sum_{n=2}^{\infty} \{n + \sqrt{n^2 - 2\sqrt{2}\alpha n + 4\alpha^2}\} |1 + \lambda(n-1)| |a_n| \leq 1 - \sqrt{1 - 2\sqrt{2}\alpha + 4\alpha^2}$$

for some $0 < \alpha < \frac{\sqrt{2}}{2}$, then $f(z) \in S_{\pi/4}(\alpha, \lambda)$.

Corollary 2.5. Theorem 2.3 reduces to Theorem 2 of [3], when $\lambda = 0$ and Theorem 7 when $\lambda = 1$.

Let $f \in H_{\lambda}(\alpha, \beta)$, the class of functions $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$ whose coefficients satisfy the conditon (2.2).

Theorem 2.6. Let $f \in H_{\lambda}(\alpha, \beta)$. Then

$$\frac{1 + |1 - 2\alpha e^{-i\beta}|}{2(2 + |1 - 2\alpha e^{-i\beta}|)(1 + \lambda)} (f * g)(z) \prec g(z) \quad (2.5)$$

for $z \in U$ and for every function $g(z)$ in the class K .

In particular,

$$\operatorname{Re} f(z) > -\frac{[2 + |1 - 2\alpha e^{-i\beta}|](1 + \lambda)}{1 + |1 - 2\alpha e^{-i\beta}|} \text{ for } z \in U.$$

The constant $\frac{1 + |1 - 2\alpha e^{-i\beta}|}{2[2 + |1 - 2\alpha e^{-i\beta}|](1 + \lambda)}$ cannot be replaced by any larger one.

Proof. Let $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$ be in $H_{\lambda}(\alpha, \beta)$ and let $g(z) = z + \sum_{n=2}^{\infty} c_n z^n$ be in K .

Then

$$\begin{aligned} & \frac{1 + |1 - 2\alpha e^{-i\beta}|}{2(2 + |1 - 2\alpha e^{-i\beta}|)(1 + \lambda)} (f * g)(z) \\ &= \frac{1 + |1 - 2\alpha e^{-i\beta}|}{2(2 + |1 - 2\alpha e^{-i\beta}|)(1 + \lambda)} \left(z + \sum_{n=2}^{\infty} a_n c_n z^n \right). \end{aligned}$$

By Definition 1.3, the theorem will hold if the sequence $\left(\frac{\{1 + |1 - 2\alpha e^{-i\beta}|\} a_n}{2(2 + |1 - 2\alpha e^{-i\beta}|)(1 + \lambda)} \right)_{n=1}^{\infty}$ is subordinating factor sequence with $a_1 = 1$. In view of Lemma 1.4, this is true iff

$$\operatorname{Re} \left\{ 1 + 2 \sum_{n=2}^{\infty} \frac{1 + |1 - 2\alpha e^{-i\beta}|}{2(2 + |1 - 2\alpha e^{-i\beta}|)(1 + \lambda)} a_n z^n \right\} > 0, \text{ for } z \in U.$$

we have

$$\begin{aligned} & Re \left[1 + \sum_{n=1}^{\infty} \frac{1 + |1 - 2\alpha e^{-i\beta}|}{(2 + |1 - 2\alpha e^{-i\beta}|)(1 + \lambda)} a_n z^n \right] \\ &= Re \left[1 + \frac{1 + |1 - 2\alpha e^{-i\beta}|}{(2 + |1 - 2\alpha e^{-i\beta}|)(1 + \lambda)} z \right. \\ &\quad \left. + \frac{1}{(2 + |1 - 2\alpha e^{-i\beta}|)(1 + \lambda)} \sum_{n=2}^{\infty} (1 + |1 - 2\alpha e^{-i\beta}|) a_n z^n \right]. \end{aligned}$$

But $1 + |1 - 2\alpha e^{-i\beta}| \leq n + |n - 2\alpha e^{-i\beta}| \forall n \geq 2, |\beta| < \pi/2$ and $0 < \alpha < \cos \beta$, we get

$$\begin{aligned} & Re \left[1 + \sum_{n=1}^{\infty} \frac{1 + |1 - 2\alpha e^{-i\beta}|}{(2 + |1 - 2\alpha e^{-i\beta}|)(1 + \lambda)} a_n z^n \right] \\ &> \left[1 - \frac{1 + |1 - 2\alpha e^{-i\beta}|}{[2 + |1 - 2\alpha e^{-i\beta}|](1 + \lambda)} r \right. \\ &\quad \left. - \frac{1 - |1 - 2\alpha e^{-i\beta}|}{(2 + |1 - 2\alpha e^{-i\beta}|)(1 + \lambda)} \sum_{n=2}^{\infty} \frac{n + |n - 2\alpha e^{-i\beta}|}{1 - |1 - 2\alpha e^{-i\beta}|} |a_n| r^n \right] \\ &\geq \left[1 - \frac{1 + |1 - 2\alpha e^{-i\beta}|}{[2 + |1 - 2\alpha e^{-i\beta}|](1 + \lambda)} r - \frac{1 - |1 - 2\alpha e^{-i\beta}| r}{(2 + |1 - 2\alpha e^{-i\beta}|)(1 + \lambda)} \right] \\ &= \left[1 - \frac{r}{[2 + |1 - 2\alpha e^{-i\beta}|](1 + \lambda)} (1 + |1 - 2\alpha e^{-i\beta}| + 1 - |1 - 2\alpha e^{-i\beta}|) \right] \\ &= 1 - \frac{2r}{[2 + |1 - 2\alpha e^{-i\beta}|](1 + \lambda)} > 0. \end{aligned}$$

Hence

$$Re f(z) > -\frac{[2 + |1 - 2\alpha e^{-i\beta}|](1 + \lambda)}{1 + |1 - 2\alpha e^{-i\beta}|}$$

for $f(z) \in H_\lambda(\alpha, \beta)$, by taking $g(z) = \frac{z}{1-z}$ in (2.4). For proving the sharpness of the

constant $\frac{1 + |1 - 2\alpha e^{-i\beta}|}{2[2 + |1 - 2\alpha e^{-i\beta}|](1 + \lambda)}$ we consider the function

$$f_0(z) = z - \frac{1}{1 + |1 - 2\alpha e^{-i\beta}|} z^2 \quad (|\beta| < \pi/2, 0 < \alpha < \cos \beta),$$

$f_0(z) \in H_\lambda(\alpha, \beta)$. Hence from (2.4) we get $\frac{1 + |1 - 2\alpha e^{-i\beta}|}{2[2 + |1 - 2\alpha e^{-i\beta}|](1 + \lambda)} f_0(z) < \frac{z}{1-z}$.

$$\text{Also } \min_{|z|<1} Re \left[\frac{1 + |1 - 2\alpha e^{-i\beta}|}{2[2 + |1 - 2\alpha e^{-i\beta}|](1 + \lambda)} f_0(z) \right] = -\frac{1}{2}. \quad \blacksquare$$

Corollary 2.7. Theorem 2.2 reduces to Theorem 2.3 given by [3], when $\lambda = 0$ and Theorem 2.6 when $\lambda = 1$.

References

- [1] F.R. Keogh and E.P. Merkes, A coefficient inequality for certain classes of analytic functions, Proc. Amer. Math. Soc., 20 (1969), 8–12.
- [2] R.J. Libera, Univalent α -spiral functions, Canad. J. Math., 19 (1967), 449–456.
- [3] Shigeyoshi Owa and Fatma Sagsoz Muhammet Kamali, On some results for subclass of β -spirallike functions of order α , Tamsui Oxford Journal of Information and Mathematical Sciences, 28(1) (2012), 79–93, Aletheia University.
- [4] L. Spacek, Contribution a la theorie des fonctions univalents, Casopis. Pro Pestovani. Matematiky a Fysiky., 62 (1933), 12–19.
- [5] H.S. Wilf, Subordinating factor sequences for convex maps of the unit circle, Proc. Amer. Math. Soc., 12 (1961), 689–693.

